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two (2) marks. All questions are compulsory.

. Axiology is the branch of philosophy
which deals with the nature of

(A) Reality (B) Existence
(C) Values (D) Knowledge

. Which one of the following principles is

incorrect regarding pragmatism ?

(A) Accepting any definite and eternal
truth or principle

(B) Emphasizing more on acts rather
than thoughts

(C) Truth is man made

(D) Supporting spiritualism

. Thetheory of liberation has been rejected
in Indian philosophy by the school
known as

(A) Vedanta
(C) Buddhism

(B) Jaina
(D) Charvaka

. According to Upanishads the ultimate
objective of education is for

(A) Good citizenship (B) Salvation

(C) Peaceful living (D) Man making

. The idealistic philosophy of education
supports

(A) Moral ideas (B) Social ideas
(C) Religious ideas (D) Aestheticideas

. Aristotle’s theory of knowledge included

the belief that

(A) Manis born with true knowledge in him

(B) The syllogistic major premise is
obtained through education

(C) True knowledge consists of universals

(D) Universals are established deductively

7. Match the following :
Listl
(Schools of
Philosophy)
a) Jainism

b) Buddhism
c) Samkhya
d) Vedanta

- hOWOWT
NOT—=R~O
aogwNh =90

8. Match the following :

Listl
a) Conservative
society

b) Closed group
of society

c) Cultural
d) Social
stratification

Codes :

a b c¢c d
(A) 4 3 2 1
B 4 1 2 3
@ 4 3 1 2
Db 2 1 4 3

This paper contains fifty (50) objective type questions. Each question carries

List Il
(Conception of
Values)

. Both material

and spiritual
values

. Spiritual values
. Moral values

. Religious values
. Both religious

and material
values

Listll

. An exogenous

source of
change

. Traits that are

SOCio-economic
of nature
Caste diffusion
A society in
which change
is slowandtime
taking
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9. Given below are two statements, one | 12. Following are the experimental learning
labelled as Assertion (A) and the other activities adopted by a teacher. Arrange
them in cyclic order
labelled as Reason (R) 1. Accommodation
Assertion (A) : Philosophy deals with 2. Con_ve'_rgi_ng
other wordly aspects 3. Assimilation
) 4. Diverging
Reason (R): Education develops Codes :
super natural abilities (A) 1,2,3,4 (B) 2,3,4, 1
Codes : (C) 3,1,2,4 (D) 4,3,2,1
(A) Both (A) and (R) are true 13. The concept of cultural-lag is linked with
(B) Both (A) and (R) are false the name of
(C) (A)istrue, but (R) is false (A) Robert M. Maclver
(D) (A) is false, but (R) is true (B) Florian Znaniecki
10. Match the types of variables with their (C) W.I. Thomas
: (D) W.F. Ogburn
highest level of measurement
a) Nominal 1. Family size 14. According to the doctrine of innate
b) Ordinal 2. Type of school deprivity
c) Interval 3. Birth position (A) The soul has had contact with ideas
of a child prior to joining the body
d) Ratio 4. Temperature . o
5 English (B) Manis bornin sin, hence must make
' megium school some type of atonement
Codes : (C) It is impossible to measure a
(A) a~5,b-2,c-3,d—4 substance without changing it
(B) a—2,b-3,c—4,d— 1 (D) Limitations upon man’s intelligence
(C) a—3,b—1,c~5,d—2 are set at birth
(D) a-2,b-5,c—1,d-3 15. When the culture traits spread from one
) ) society to another, the process is called
11. Who is considered as the “Father of
Sociology” 2 (A) Diffusion (B) Dissemination
C) Imitation D) Propagation
(A) Max Weber © (D) Propag
16. The first challenge to caste system was
(B) Herbert Spencer
made by
(C) August Comte (A) Mahavir (B) Buddha
(D) Emile Durkheim (C) M.K. Gandhi (D) E.V.R. Periyar
K-1213 (5) Paper I
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17. Social change is essential because 20. Critically judge the following :
. Always leads to social progress Assertion (A) : My religion is the best
Il. Should be brought aboutthrough religion.
. Reason (R): The democratic
education _
philosophy allows me to
lll. Cannotbe made only through legislation think and live with
IV. Is always welcome freedom
Codes : Codes :
) (A) Both (A) and (R) are true and (R) is
(A) Allthe above statements are correct the correct explanation of A
(B) Statements|, Il and IV are correct (B) Both (A) and (R) are false
(C) Only (A) is true, but (R) is false
(C) Statements|, Il and lll are correct (D) Only (R) is true
(D) Statements Iland Il only are correct| o4 We usually avoid remembering
18. Match the following : something that is associated with fear or
. . unpleasantness. This is termed as
List| Listll : .
_ _ (A) Suppressing (B) Forgetting
a) Somiall _ 1. Education (C) Retrieval failure (D) Repression
stratification . .
b) Social mobility 2. Modernization 22. The most W|d§Iy used method of learning
_ in childhood is
c) Social change 3. Caste (A) Trial and error
d) Social equity 4. Reservation (B) Learning by insight
5. Religion (C) Learning by imitation
Codes : (D) Learning by suggestion
a b c d 23. A child memorizes the tables of numbers.
A 2 5 4 1 He goes to market and purchases some
B 3 1 2 4 bananas correctly. Which type of transfer
(C) 4 3 2 1 has taken place here ?
(D) 5 3 4 2 (A) Lateral (B) Sequential
. _ _ (C) Horizontal (D) Vertical
19. Critically judge the following :
. . 24. Which of the following chain represent
Assertion (A) : Government may
. the aspects of mental development of
enforce social change. human being ?
Reason (R) : Social tensions create (A) Sensation — Perception — Conception
social change. — Thinking
Codes : (B) Perception — Conception — Thinking
— Sensation
(A) Both (A)and (R) are true (C) Conception — Thinking — Sensation
(B) Both (A) gnd (R) are fallse — Perception
(C) Only (A) is true but (R) is false (D) Sensation —Conception — Perception
(D) Only (R) is true — Thinking
K-1213 D Paper I
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(A) 4,2,1,3 (B) 2,1,4,3

(C) 3,1,2,4 (D) 1,4,2,3
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25. The concept of unconscious motivation

26.

27.

28.

is the cornerstone of
(A) Psychodynamic theory
(B) Psychoanalytic theory
(C) Psychobiological theory
(D) Both (A) and (B)
‘Introspection method’ was used
mainly in
(A) Functionalism
(B) Structuralism
(C) Behaviourism
(D) Gestalt psychology
The right order of the structure of mind
according to Freud is
(A) Super Ego—1d - Ego
(B) Id — Ego — Super Ego
(C) Ego — Super Ego - Id
(D) Id — Super Ego — Ego
Rearrange the following steps of concept
formation
a. Sensation
b. Synthesis

c. Perception

Total Number of Pages : 16

29. Which of the following sequence is the

30.

31.

learning hierarchy of Gagne ?
1. Multiple discrimination
2. Stimulus response learning
3. Concept learning
4. Signal learning

(A) 4,2,1,3 (B) 2,1,4,3
(C) 3,1,2,4 (D) 1,4,2,3
Match the phobia with its object/source :
Phobia Object/Source
a) Ochlophobia 1. Closed space
b) Nyctophobia 2. High places
c) Claustrophobia 3. Darkness
d) Agrophobia 4. Crowds
5. Open space
a b c d
A 3 5 4 2
B 1 2 3 5
C 2 4 5 1
M) 4 3 1 2

Match the list of the defence mechanisms
with its distinguishing characteristics

given below :
Listl Listll
a) Sublimation 1. Placing blame
on others

b) Projection 2. Feeling unity

c) Rationalization 3. Turning into
subline
directions

4. Finding
justification

d) Identification

d. Analysis
(A) a,d,c,b Codes :
a b c d
(B) d.c.b,a A 3 1 4 2
(C) a,c,d,b B 1 4 2 3
(D) b, a,c,d Cc 4 2 3 1
D) 2 3 1 4
K-1213 (o) Paper I
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35. &5 é@ﬁﬁ&ﬁ@ @a’pmr%ﬁmﬁ QEIECDR

36.

37.

38.

TOHR (A) : 3ERB TR DD TFOOHEY
T, e0E0R0 2T 0
; FETR0T0 2Ot THOOIFL
SR EBOIRNG) S0 LG
QOITAD :
(A) (A) B»3 30
(B) (R) 3»3 50
(C) (A) =ore (R) «0&ER %O, =933 (R),
(A) 030 FOCTNT DRTHBOIRNT
(D) (A)@ne(R)2SRER R0, B33 (A), (R)3
ROCINT WTFHOIRNT

509 (R)

TRTOO Foe PBOORSTOT DRI/

@@éoﬁa@ &oert 30308YT
(A) =002 (B) =»z0 wBes
(C) ©08-03 (D) wgrames

) )

®BIZ[ wIH0L,0300  FoeeyFAN
&V oﬁoom‘aa 9 B FYNT O3
TIRTOOI0 8T ?

(A) Q0303208 BRTO RONT

(B) 50638 esmdem08e @R Zons
(C) =RoNE RBRTO Fon

(D) RoegE cIntisssE SRwo Fon
SOPT BYZ00 VTT YUTHHBORCIPNT
(A) [P, BeesE wvd

(B) —ad BIB9S

(C) &5 023 @

(D) AINOT =8
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32. Match the following List | with List I 35. Critically judge the following :
Listl Listll Assertion (A) : Motivation is important
a) 16 PF I. Jung in the process of
b) 1Q ii. Burtand teaching and learning
Vernon Reason (R) : Motivation is attraction
S
clarifies its meaning
Codes : Codes :
" ﬁ ﬁi I‘:/ f' (A) Only (A) is correct
B) i i Qv i (B) Only (R) is correct
(C) i v i il (C) Both (A) and (R) are true and (R) is
(D) v i i correct explanation of (A)
33. Assertion (A): Creative thinking follows (D) Both (A) and (R) are true and (A) is
of beaten path not correct explanation of (R)
Reason (R): Creative thinking is the 36. A measure based upon a sample is
basis of innovation kNown as
Codes : (A) Inference
(A) Only (A) is correct (B) Sample parameter
(B) Only (R) is correct (C) Statistic
(C) Both (A) and (R) are incorrect
(D) Both (A) and (R) are correct (B) Non parameter
34. Critically judge the following : 37. Which sample is supposed to be the best
Assertion (A) : Preschool period is when population is known to the
crucial for language researcher ?
development (A) Quota sampling
Reason (R) : Brain is relatively more (B) Stratified proportionate sampling
plastic during early (C) Incidental sampling
stages of development
Codes : (D) Stratified random sampling
(A) Both (A) and (R) are true and (R) is | 38. Measurement of age is an example for
the correct explanation of (A) (A) Nominal scale
B) Both (A) and (R) are true but (R) is :
® not th(e c):orreci e)xplanation of ((A)) (B) Ordinal scale
(C) Only (A) is true, but (R) is false (C) Interval scale
(D) Only (R) is true (D) Ratio scale
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39.

40.

WRHT T T TPCFRAT )
STRORRMIZE TR RRURIRTFoTTS
(A) BRTO BRBHONYS TR

(B) 1l e 0303 BreR

(C) 1 Se0e80d ToeR

(D) d0FHTReR

HoBRGT FTHCH TR, FRARFOIL
ROCIRT T30, BT GROWD.
i) 0% BB BRI B0
ii) 32908 BonEE0I WFSNED
iii) 00T/ BT BoBReFZD Tewd
V) B0 SERLIBITOT ROBR I ROTNL
V) RR0R 0D BT,

@F)DGL

43.

44.
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QEBTEERYT ROBRETSOD B FINT BT,
BowgemeNn Jesss0R

1. S=0e3s Fon® Tone Z3od

2. FOOBNY ©HE VW

3. ARR 0D OGRS

4. ABRYEBTET TROTYORDE

5. RTHOD FTRO T3S

6. QTIGRT BOFHCOD Te3S
12 45

O

(

(

(

(D) 3 6

83 SN BROSBT IR 3dne Geedod 20
1. Yreower 3p0TE

Codes : 2. OO Lredwer RSB
(A i i ivovoi 3. 3D ER0 FROSST
(B) i vl i v 4. q‘a&ﬁm—@&@éoﬁow
C)iii v i v A 1 2 3 4
D) iii i v v i B) 2 3 4 1
(C) 4 3 2 1
41, S3FNTPYNT) 0IRPYTD BOCIRT BTN ? D 32 1 4
(A) S0 TN 2,000 BOGOID B
7\))3\)03‘5#/35?&)%@7%@0 mz;%é)egﬁ 45. @%@ﬂsif@@oﬁggwdiﬁ@Oaiwdm@I
(B) modowaegom?;owfﬁ BTN, daep | dregll
S BmNODHR ATLEE a) &y s7 I SR0I
(C) 2omd Boeg ot BT WBTQTOI0R e SR- R eB0I0k
SOE SR THNBEIT b) TERWT 2. SRR
C) BR-0pd03008® 3. WIS,
(D) 20T TOEFOI0 TOWBM LIF BLTIOIND 3
w e ST REIVF DI
B LI NOREIE d) AGroSZRREHL 4. RnTd
42. 33 3INTZYTBTY CIRIHT1 ROCIRN TRODAY ? Ronmnes LITH
(A) 7B GROT (TRDIRT)ToRY - YOI :
NTBES0D T3 a b c¢c d
(B) TRTRT WO [RT, — FRI0WRT/ A) 2 1 3 4
3%%‘&)5%@53’ d@go@ﬁﬁe@&; WINRIZT B 2 3 1 4
(C) ®=R0830300 — DFLECCDETNIER Cc 4 1 2 3
(D) v BRTO - FBRS, b 3 1 2 4
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39.

40.

41.

42,

Null hypothesis is rejected when it is true,
it indicates

(A) Sampling error

(B) Type Il error

(C) Type | error

(D) Standard error

Findout the correct chain of general
format of the research report
i) Survey of previous research

i) Data gathering instruments

iii) Statements of hypothesis

iv) Suggestions for further research

v) Significance of the problem
Codes :

(A i i ivovoi
B)i v i ii iv
©)iii v i i v
O)iii i v iv ii

Which of the following is not a correct

statement ?

(A) A test cannot be valid without being
reliable

(B) A testcan be both reliable and valid

(C) A test can be reliable without being
valid

(D) A test can be valid without being
reliable

Which of the following is not correctly

matched ?

(A) Documentary sources — Secondary
data

(B) Primary sources alone — provide
valid data

(C) Population must be— homogeneous

(D) Good sample — representative

43.

44.

45.

Total Number of Pages : 16

Rearrange the following steps of
descriptive research in a correct
sequence

Collection and processing of data
Interpretation of results
Identification of a problem
Arranging of generalization
Drafting of the report

Formulation of the hypothesis

6 3 12 45

CQTZouoprwN=

— i

5
5
2

N N N
wWwo
o oW
A~ NN
o b Db

Arrange these correlations in sequential
order

1. Biserial correlation

2. Point Biserial correlation

3. Tetrachoric correlation

4. Phi-coefficient
A 1 2 3 4
B) 2 3 4 A1
C 4 3 2 1
D)y 3 2 1 4

Match List—1and List— Il and select the
correct matching from the list provided.

List| Listll
a) Degreesof 1. Correlation
freedom coefficient
b) Parameter 2. ANOVA
c) Coefficient of 3. Population
determination
d) Standard error 4. Sampling
distribution
Codes :
a b c¢c d
A 2 1 38 4
B 2 3 1 4
c 4 1 2 3
o 3 1 2 4
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46. B3390 ﬁraee,—-g?da’% TROD W30

48.
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AN eﬂﬁ)@OﬁJ@Od REC B3 3N ?OE@FO&)T{@@?,’

iraew# | @J@Cﬁj ] om@da éérwdmﬂde)a —ad D2

a) omdzéé 1. SRTORNBE Zadoeed : N@Ojf&d Fe33 —adé dfa@dd
mdb ﬁ@%ﬁdg{ 03 RRED BRGOL TOROTNI éééda 0339309
AONB WERNY, (A) TSR FeBT TOTSATT THFTE,

b) w33 2. wTHosZ000 TOROINE 38 %ﬁ@da%éd& oimdo‘?
TPRFD $IBTRTRNT 1B, (B) 30o0dnm aeas TS IRRTT
RNTO oY 9T DO $BFTR BRT % &3% ORI
orgtestac) (C) TOGRE FeIT TOFSATTR

0) L BoT 3. 1P DY 3R BTN 380Y,

d) 7_\’;@@5&)3 4. 33@009303&3 (D) N@Oﬁf@d B2 _de%fomﬁ 5@&&)%
RO wdadrawmﬁda TR0V O F IR %éd&
RORE @?d%wmd 33‘35@33 49. R (A) 1 T -FpeR® FTWBRE

- sﬁf‘ s RodneRane), Aodnegson
' 3 LROFH [P, R e
WIBITRLOINNT ToTR 2003303 2o
- ) %
g;g;gizﬁﬂ 3N 539 (R) 1 @ROFR SRYNY
BB MRS SNTOZT
YOI ! (A) (A) =28 R0
a b c d (B) (R) Z»g =0

(A) 2 1 5 3 (C) (A) =rie (B) 20@» 33

E(B;)) ;_ g 113 j (D) (A) mon% (R) 23&@m 30

M) 5 3 2 1 50. 333N ﬁ@@@ﬁ%ﬁgﬁ»@@ TONR #@Oﬁfad)dﬁ%

503, WRE.
47. 33303 i@@%@ﬁ@{ﬁ@o@% QTOWD. i e‘i)@o@ﬁ w@@@OﬁJ é@@?ﬁ 236303, 535353
SR Sacsll i Eedenons 0,608 ZoBNS
a. [PLF TS, 1. CTR TIPS %@ﬁmdﬁd
} Goerid i, 2503, Fogow EResl Biono LT

b. daFmme TOG, 2. FIIT SouT Zedeahodn 6,668, TOBN0S

riasa@ésar{%ﬁo 0m] ﬂda@’cﬁ

o weno Tog, 3. 2Rd L0y il. =S oo sSags SamacD ©od

d. TAT 4. cinogz P e SRR GG VLT

5. @@%35 ?,.)J@Qﬁ)g 23955 ALY
Codes : iv. SrrGuodaegy SRmR0D BoERteD
a b c d BTN ojfa@éra wpE e

(A) 3 5 4 2 (A) Bewdi DR

B 2 1 4 5 (B) Segi ;bso iv

€ 1 5 3 2 (C) e i, iii dse’o iv

Oy 3 4 1 5 (D) Sei, i, ii ﬁaé_’; iv
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46.

Match the following List — | with List — I

Listl Listll
a) Random 1. The unit of sampling
sampling cannot be
selected

b) Purposive 2.
sampling

The population
is homogenous
and frame is available

c) Multi-stage 3. The frame is not

sampling available
d) Stratified 4. The population
proportionate  heterogeneous
sampling and frame is available
5. The population
is heterogeneous
and geographically
wide spread
Codes :
a b c¢c d
A 2 1 5 3
B 1 2 3 4
Cc 2 3 1 4
by 5 3 2 1

48.

49.

Total Number of Pages : 16
Which of the following conclusions cannot
be validly drawn from the proposition given ?
Proposition : Who of the teachers will
not work hard if paid
enough ?
(A) Some persons working hard when
paid enough are teachers
(B) All teachers work hard if paid
enough
(C) No teachers are those who will not
work hard if paid enough
(D) All persons working hard of paid
enough are teachers

Assertion (A) : In Ex-post facto research
the researcher does not
have control over
independent variable.
Manifestation of
independent variables
have already occurred.
A) (A) alone is true

B) (R) alone is true

C) Both (A) and (B) are false

D) Both (A) and (R) are true

Reason (R):

(
(
(
(

47. Match the following List | with List Il 50. Read the following statements, choose
Listl Listll which are correct ?
a. Verbal test 1. Unconscious i. The table value of one tailed test is
motives lower than two tailed test irrepective
b. Performancetest 2. Personality of level of significance
traits ii. The table value of one tailed test is
c. Tweezar test 3. Intelligence of higher than two tailed test irrespective
educated of level of significance
d. TAT 4. Mechanical iii. The sum of square value can be
skill negative as well as positive
5. Intelligence of depending upon the value of
uneducated correction factor.
Codes : iv. The sum of square value is always
positive irrespective of the value of
a b c¢c d ;
correction factor
(A) 3 5 4 2 (A) Only statement i
B 2 1 45 (B) Both statements i and iv
c 1 5 3 2 (C) Statments ii, iii and iv
G 3 4 1 5 (D) Statments i, ii, iii and iv
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